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A speaks the truth 5 out of 7 times
and B speaks truth 8 out of 9
times. What is the probability that
they contradict each other in
stating the same fact?

AS5HHY7IR A ST 8, IR B8 H
H 9 9R, 3 G9aT & & 9 TH &
de @I §dld 8¢ Ub—gux I fave
BN ?

(a) 1/7 (b) 1/9

(c) 1/4 J#1/3



Water is flowing through a cylindri-
cal canal with an internal diameter

@'n at the speed of 18 km/h.
Find the volume ol water flowing

through the canal in 30 minutes.
(take n = 22/7)

7 WX AARS AT dqTell U TR
T8 § UMl 18 fadr /=er @ Tfa «
98 %81 2] 30 fA9e ¥ TR 9 ¥89 a9
Ul T A S DY | (T = 22/7
IS,

xa) 3,776,500 m3
Xb) 3,56,500 m?3
Xl(c) 3,66,500 m3

C_1d3,46,500 m?



The selling price of 2 blankets are
L? sf the same. One of the blankets is

sold at 66%% profit and the CP of

f_ 3 5 the other blanket is Rs. 400 less

than its SP. If the total profit on
selling both the blankets is 50%,

then find the selling price of each
blanket.

2 Hedl I A Tou 99 B TP
Wﬁsg%wwﬁmmﬁaﬂ?

‘Q TR B9 B HY Hod, SGD [3HY
79 ¥ 400 91U FHH gl IR qHI
Bl DI 999 W FA 50% T BT

Q R-Yooky X3e) 2 @ wT Fa@ B AT T T

L‘%\%OQL) gw.l 1500 (b) Rs. 1510

(c) Rs. 1530 (d) Rs. 1520



If the difference between the mode
and median is 2, then find the

difference between the median and
mean (in the given order) using
empirical relation.

Ife el 3R AIfeTdT & 1 $T AN
2 § T AitadT R Aeg @ d9 @
IR (e 71U %9 ¥) 39 BRI |

(a) 4 1
() 2 (d) 3

Mod~mad=2_







In AABC, BD is the bisector of B

B which meets AC at D. If AB = 5 cm,
AD = 3 cm and BD = 7 cm, then

what is the length (in cm) of DC?

S S A ABC ¥ BD, /B & GHEYS® ©
=, St AC @I D W fierar €1 If AB = 5
o, AD = 3 99 3k BD = 7 99 &,
dl D¢ @ oerg (A9 H) oot 27
L)gf{§7/16 (b) 109/12
A73 D ¢

(d) 71/8




A hundred rupee note measures 15
cm X 8 cm and a bundle of 125
such notes is 2 cm thick. Find the
value of the hundred-rupee notes
that can be contained in a box of
size 48 cm x 36 cm x 30 cm, if the
bundles are tightly packed in it
without any empty space.

TS A BUY B Al B A9 15 JH x 8
T 2 R W 125 A BT UH g
2 |HI HIST 81T 81 48 ¥H x 36
x 30 9 PR & §iad H W@
P+ arel A BU D Al Bl A
piforg, afg seaf &1 faar fed

e @ BB} Ud fhar wrar 2

(a) Rs. 36 lakhs
(b) Rs. 33 lakhs
(c) Rs. 30 lakhs

Rs. 27 lakhs

143
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The height of the frustum of a
cone is 8 cm. The radius on the
top of the frustum is 6 cm and the

bottom of the frustum is 12 cm.
What is the curved surface area of
the frustum?

% UG @ fo~e o S8 8 W B
fovis @& @ o Broar 6 a 3R
fo~e @ MR @ B 12 I g
=% &1 9% T8N &a%d fbar 87

TCURFOX st

(c) 360 it cm?
(d) 36 m cm?2




If the ratio of the mode and

median is 13 : 9, then find the
ratio of the mean and mode using
empirical relation.

uﬁ'?aﬂ?mﬁm $T U 13 :
_g% FIHIGT Y BT STANT Fal

ey R g BT U S
aﬂﬁﬂtfl

(a)9: 8 (b) 8 : 13

(c)8:9 \df7:13

(D

Convchpn




Given are the scores of a batsman
in the last 10 innings. Find the

median score of the batsman in
these innings.

65, 180, 81, 6, 63, 27, 122, 8, 165,
o0

fuwelr 10 TIRT} ® TP TooigTo & TR
fer v &) g9 uRal ¥ SooEre @
AIfHT TP ST PIT |

65, 81, 6, 63, 27, 122, 8, 165,
S0

(a) 64.5
(c) 65 (d) 63




As shown in the given figure,
inside the large semicircle, three
semicircles (with equal radii) are
drawn so that their diameters all
sit on the large semicircle’s
diameter. What is the ratio
between the white and black
areas?

o & < % ampfa § <wiar T g

g8 g @ IR, dF g (FEE
ﬁwmﬁ)wmﬁaﬁmmw
g af S0 9 N §§ SEigd

mﬁmﬁlwmmm

$Hezr$raajcrmw%?
(a) 4:3
(€)2:1 (d)3 4



When 4230, 5986 and 9059 are

divided by the greatest number m,
the remainder in each case is n.
What is the value of (m - n)?

W9 4230, 5986 3R 9059 HI TIH
go! 9T m 9 fowifora fan wmar @,

UL 4 9% n 2| (m
fe [13a|) Hg??ti‘) z ﬁ)ﬁrmﬂmﬁﬁm%? M
as

160 (b) 159

2’-)‘1_.-,“ (c) 153 (d) 163 KC 308

Y39




The numbers 4, 6, 10, x, 20, 24, 32
are arranged in ascending order.
Find the value of x if their mean

and their median are equal.
gl 4, 6, 10, x, 20, 24, 32 @I
IRE HH A qaferd fHar T 21 x
HT 4 3d oifore Iafe & 18 e
T AeY IR ARIdT RN 2

(a) 12 (b) 20

(_orT6 ©(d| .




AB is a common tangent to both
the circles in the given figure. Find
the distance (correct to two
decimal places) between the

ﬂq— centres of the two circles.
Q@ ¥ mpfa § AB Il gEl @

SIS W3 G128 | & <l D Psl D
a0 (S IFAT R a9 qa)

g ST BT |
®

(a) 18.98 units
\_I723.58 units
(c) 26.59 units
(d) 21.62 units




A sum of Rs. 14000 amounts to Rs.
18515 in 2 years at a certain rate

percent p.a., interest compounded

yearly. What will be the compound

pr="c interest on the same sum, in the
i il same time and at the same rate, if

/H,. R""S'/' ;l::nt::ﬁt;rest is compounded 8-
14000 T94 & ART 2 I9 ¥ TP
’ N fAR=a ufdera affe <% & 18515 T4
l;’“'—"lg'/'z‘rﬁnﬁ’r%gmmmﬁﬁmﬁ
M —>|0/. HaIRHa | GHH ERIRT UR, A
MM]‘B%\/ W A AR GHH X W uHgly
fpoar sFm, IfT & 8 HEM H
HAIfora B 87

C (a) Rs. 4494 <b}-Rs—S620 —
_ISYRs. 4634 (d}-Rer3234—



If cos48° = m/n, then sec48° -

cot42° is equal to:

I cos48° = m/n, @ secd48° -

cotd2° fhuad e &

—



In an election, a candidate secures
42% of the votes polled but is

defeated by his.qnly opponent by a
gajarity of(3080 otes, because of

@ puadid Votes. The percentage

oTl invalid votes is

wgﬂﬁﬁ weﬂﬂaawrs'ra‘rﬂeqa’f
42% VTG &l 8, olfbd 1400
eﬁeqﬁa%weqﬁrwm

¥ 3080 Wl & §gAd 9§ BR Wl 2|
Y HaAl HT e —— 2|
\_A9) 5% (b) 3%

(c) 4% (d) 6%




Two circles of radii 8 cm and 3 cm,
respectively, are 13 cm apart. AB
is a direct common tangent touch
to both the circles at A and B
respectively then the length of AB
is

HHY 8 W 3R 3 /A Bewr A @
T 13 W @ g I B | AB HHE: A
dR B W Tl gl @ fog U@ wnm
ATH WIRET W9 8, df AB & ddlg
B

(a) 10 cm \,m::m

(c) 8 cm (d) 6 cm



A supermarket earns 5%% as

discount on the total purchasing

value and a bonus of 1% on sales

2
more than Rs. 10,000. What is the

total sale wvalue if it earns Rs.
1,9907?

Uh GURATHE Hd B9 Jod W BC D
w0 H 5%% AT & 3R 10,000

SR W e P O W -;-% G|

999 HEEr 8 I I8 1,990 U

HHIT 8 O F[A 9! Fog w7 87

(a) Rs. 14,000 (b) Rs. 16,000
Rs. 34,000 (d) Rs. 24,000




In the given figure, MNP, SQP, NQR
and MSR are straight lines.
ZNPQ =54° and ZQRS=68°. What
is the degree measure of /SMN ?

8>3 3MdHfd H, MNP, SQP, NQR 3R
SR Wl X@¥ | /NPQ=54° and

/QRS=68°% | d /SMN & f$ifi A0
SU a2
R

68°

29° (b) 38°
(c) 54° (d) 68°



A and B run a 12 km race on a
circular track of length 1200 m.
They complete one round in 300
seconds and 400 seconds,
OWM respectively. After how much time
from start will the faster person
meet the slower person for the last
time?
A 3R B 1200 #IcX @4 TR P W
12 f&H & e & § | 9 HAT: 300
Ahs AR 400 APS H Tdh TaHY QNI
X Bl IRH ¥ fhom 99 9 A9
go g aafte ¥ &Afp I e IR
T
) 2400 seconds

(b) 8400 seconds
(c) 9600 seconds
i) 10800 secgx

-
L



w

o

\

Ny Ay

2

\
2

The speed of a boat in still water is
thrice the speed of the stream. If

the boat takes 15.5 sec to go to a
certain place downstream, then
find the additional time required
to cover the same distance

travelling upstream.

mmt‘;maﬁﬁmaﬁgﬁﬁ
a9 A 21 Ifq A9 IgHarE H U
fAfaa w9 9% 91 ¥ 15.5 9%s &I
AG ol 8, O SEEuarE 99 ) ad
N W o grenm JifalRt 9Ha S

PIFTY |

/ ‘ 15.5 sec (b) 29 sec
(c) 31 sec (d) 35 sec
1% T%(
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A glass jar contains 6 white, 8
black, 4 red and 3 blue marbles. If

a single marble is chosen at
random from the jar, what is the
probability that it is black or blue?

U Hid d R ¥ 6 G, 8 P, 4
AA MR 3IAT TR | AR IR A |

U Uh AR A1 Sl
2, O SHH! T GHIgAT & P a8 Prem
T AT 87

(a) 8/21 uyﬂum

(c) 5/21 (d) 1/7



(a) Rs. 14.10 uyﬁzs. 13.50
(c) Rs. 12.90 (d) Rs. 13.80

Karisma has been spending Rs.
O on the purchase of an item
evely year for the past three years.
the price per unit of this
- ated from year to
year with the per Umi.price being

s. 9 in the first year, Bs®g4 in
the second year and Rs ) in
the third year. What was the
average per unit price that
Karisma paid for this item in the
three years?

SR’ fIod o9 991 | &R 99 P I
aﬁﬁﬁgws,momaﬂaﬂ?ﬁr




1, 4, 7, 12, 13, 10, 11, 0, 0, 18,
37, 33, 29, 27, 16, 25, 28, 17, 19}

What are the Mean, the Median
and the Mode of the above set of
data, in the same order, corrected
to two decimal places?

{1, 4, 7, 13, 13, 10, 11, O, O, 18,
37, 33, 29, 27, 16, 25, 28, 17, 19}

STl & SURRD AC &7 Ay, HifegadT iR
A § & SN P9 W I <IHg
L% el fear mar 87

) 16.16, 16, O
(b) 0, 16, 16.16 X
(c) 16, 16.16, O

(d) 16, 0, 16.16 7(



A frpstam of a right circuylar cone,

whose height is 18 cm, large base
radius is 25 cm, and small base
radius is 20 cm, is melted to form
a small sphere of diameter 2 cm.
How many spheres will be formed?

EEE gL ggmg H Pl ;EE'ﬁFﬂﬁi
18 . g8 MR DI
rar 25 99 3R B IR @ B

20 /¥ 8, & faamer 2 949 A FI
Td BT el 9911 frar &1 0 fham

Mot g997?
(a) 6287 Qthg;;; (@??:)

(c) 4575 (d) 5857




Given that A and B are second

quadrant angles, sinA = - and sinB

3

, then find the value of cos(A -
B).

fear w1 8 f& A @ik B fgd aguiw
$W§,sinﬁ=%aﬂ'\'sin3=%,ﬂ’l

cos(A - B) T A STd DI |




(a) Rs. 312

ue)' Rs. 301

(b) Rs. 320
(d) 296

Ram and Dipti each invested a sum
of Rs. 8000 for a period of two
years at 30% compound interest
per annum. However, while for
Ram the interest was compounded
annually, for Dipti it was
compounded every eight months.
How much more will Dipti receive
as interest compared to Ram at

.the end of the two-year period?

I IR AT vqF 7 30% afis
Ushqfe oISl B X F A 9§ DI Jafe
& fog 8000 Juy & <R &1 AW
far| saife, W & fou =9 aift®
gaifora fear = o, ity & o I8
YAd A6 A H GAIfora fdar @r
of| & a9 & (@ & IJd H WH B
qgor T # QT & a5t & w9 H fhae
JfeF UTd BRIT?



K-lo

— K'”O

10 less than a given number K, 10

more than the given number K,
and 38 more than the given
number K are in continued
proportion. Find the given number
K, where K > 0.

& TE G K ¥ 10 HH, & T G&T
K ¥ 10 3f¥®, 3R &) 78 &1 K 9
38 I PR oqua & &) & T
&I K S SIS, S8l K> 0 2|

150 (b) 40

(c) 50 (d) 70

ol:bif_brk



If the median of a, a, 23, = ,Sa is
2 3 4 5

6, then what is the value of a

where a is natural number?

A o, 2,22, 272 4 w6 2

ﬂ\faﬁ[% %,GETaQ'Eﬁ

X 1C
(d) 9 (d) 12

(oY 7. S 2 §




The length of a room is ok times

16
its breadth and breadth is —’szlmes

91 16 its height. If H is the height uf the
room and L is the longest rod that
can be placed in the room, then
which one of the following is
correct?

wmirﬁm,maﬁsréaﬁ%

gﬁ%aﬂvﬁs@.mﬁﬁﬁ%

T 2] If R @ Halg H § AR
39 B ¥ & Ol 9HA dlell ged
al B @ §1g L 8, i
¥ DT 9 87

\_Jarlf = 29H (b) 9L = 25H

(c) 7L = 23H (d) 5L = 13H







